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TOTAL POINTS

37/40

QUESTION 1

1Front page with signature 3/3
v - 0 pts Correct
- 1 pts You must enter the url for UCLA student
conduct code
- 1 pts First sentence missing

- 3 pts No first page turned in

QUESTION 2

2MC Q15 5/5
v - 0 pts Correct
-1 pts MC1
-1 pts MC2
-1 pts MC3
-1 pts MC4
-1 pts MCH

QUESTION 3

3MCQ6-10 5/5
v - 0 pts Correct
-1 pts MC6
-1 pts MC7
-1 pts MC8
-1 pts MC9O
-1 pts MC10

QUESTION 4

4aMCQMNM155/5
v - 0 pts Correct
-1 pts MC11
-1 pts MC12
-1 pts MC13
-1 pts Mc14
-1 pts Mc15

QUESTION 5

5MC Q16-20 5/5
v - 0 pts Correct
-1 pts MC16
-1 pts MC17
- 1 pts MC18
-1 pts MC19
-1 pts MC20

QUESTION 6

6 Question 21 1.5/3

- 0 pts Correct
v - 0.5 pts Clearly define the random variable
v - 0.5 pts Check conditions for normal
approximation on mean
v - 0.5 pts Check conditions for normal
approximation: independence and constant
probability

- 0.5 pts Mention normal approximation for binomial
distribution

- 0.5 pts Show work to calculate the parameters of
normal distribution

- 0.5 pts Calculate the final probability using normal
approximation

- 3 pts Missing

QUESTION 7

7 Question 22 3/3
v - 0 pts Correct
- 0.5 pts Clearly define the random variable as
Bernoulli(p)
- 0.5 pts Write expectation of bernoulli
- 0.5 pts Write variance of bernoulli
- 0.5 pts Correctly recall formula Var[X] = E[X"2] -



E[X]"2
- 1 pts Show correct work for final computation

- 3 pts Missing

QUESTION 8
8Q2325/3
- 0 pts Correct

- 0.5 pts Clearly define the random variable of
interest
v - 0.5 pts Assume independence of trials

- 0.5 pts Conclude that R.V follows geometric
distribution

- 0.5 pts Recall expectation of geometric r.v.
correctly

- 1 pts Carry out the final computation with the given
information

- 3 pts Missing

QUESTION 9
9 Question 245/6
- 0 pts Correct
-1 pts Sample space
- 1 pts PMF table has incorrect probabilities
- 1 pts Calculating expected value of distance
v -1 pts Calculating expectation of squared distance
- 1 pts PMF table has incorrect events
- 1 pts PMF table has incorrect values of the
distance
- 2 pts PMF table has significant deficiency
- 3 pts Missing

QUESTION 10

10 Question 25 2/2
v - 0 pts Correct
- 0.4 pts Clearly define the random variable
- 0.4 pts Deduce that random variable is an
exponential random variable with parameter 15.
- 1.2 pts Show work for the final calculation

- 3 pts Missing
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1 Front page with signature 3/3
v - 0 pts Correct
- 1 pts You must enter the url for UCLA student conduct code
- 1 pts First sentence missing

- 3 pts No first page turned in
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C

| Question(Q) Answer | Q  Answer | Q  Answer | Q  Answer |
Q1 B Q6 C Q11 B Q16 p
Q2 0 Q7 /'3; Q12 E Q17 b
Q3 /5, Qs D Q13 K Q18 E
Q4 C Q9 ¢ |Qu A QI o
Q5 Q10 D Q15 N Q20 A




2MC Q15 5/5
v - 0 pts Correct
-1 pts MC1
-1 pts MC2
-1 pts MC3
-1 pts MC4
-1 pts MC5
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C

| Question(Q) Answer | Q  Answer | Q  Answer | Q  Answer |
Q1 B Q6 C Q11 B Q16 p
Q2 0 Q7 /'3; Q12 E Q17 b
Q3 /5, Qs D Q13 K Q18 E
Q4 C Q9 ¢ |Qu A QI o
Q5 Q10 D Q15 N Q20 A




3MCQ6-10 5/5
v - 0 pts Correct
-1 pts MC6
-1 pts MC7
-1 pts MC8
-1 pts MC9O
-1 pts MC10
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C

| Question(Q) Answer | Q  Answer | Q  Answer | Q  Answer |
Q1 B Q6 C Q11 B Q16 p
Q2 0 Q7 /'3; Q12 E Q17 b
Q3 /5, Qs D Q13 K Q18 E
Q4 C Q9 ¢ |Qu A QI o
Q5 Q10 D Q15 N Q20 A




4MCQMNM-155/5
v - 0 pts Correct
-1 pts MC11
-1 pts MC12
-1 pts MC13
-1 pts Mc14
-1 pts Mc15
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C

| Question(Q) Answer | Q  Answer | Q  Answer | Q  Answer |
Q1 B Q6 C Q11 B Q16 p
Q2 0 Q7 /'3; Q12 E Q17 b
Q3 /5, Qs D Q13 K Q18 E
Q4 C Q9 ¢ |Qu A QI o
Q5 Q10 D Q15 N Q20 A




5MC Q16-20 5/5
v - 0 pts Correct
-1 pts MC16
-1 pts MC17
-1 pts MC18
-1 pts MC19
-1 pts MC20
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6 Question 21 1.5/3

- 0 pts Correct

v - 0.5 pts Clearly define the random variable

v - 0.5 pts Check conditions for normal approximation on mean

v - 0.5 pts Check conditions for normal approximation: independence and constant probability
- 0.5 pts Mention normal approximation for binomial distribution
- 0.5 pts Show work to calculate the parameters of normal distribution
- 0.5 pts Calculate the final probability using normal approximation

- 3 pts Missing
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7 Question 22 3/3
v - 0 pts Correct
- 0.5 pts Clearly define the random variable as Bernoulli(p)
- 0.5 pts Write expectation of bernoulli
- 0.5 pts Write variance of bernoulli
- 0.5 pts Correctly recall formula Var[X] = E[X"2] - E[X]"2
- 1 pts Show correct work for final computation

- 3 pts Missing
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8Q2325/3
- 0 pts Correct

- 0.5 pts Clearly define the random variable of interest
v - 0.5 pts Assume independence of trials
- 0.5 pts Conclude that R.V follows geometric distribution
- 0.5 pts Recall expectation of geometric r.v. correctly
- 1 pts Carry out the final computation with the given information

- 3 pts Missing
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9 Question 245/6
- 0 pts Correct
- 1 pts Sample space
- 1 pts PMF table has incorrect probabilities
- 1 pts Calculating expected value of distance
v -1 pts Calculating expectation of squared distance
- 1 pts PMF table has incorrect events
- 1 pts PMF table has incorrect values of the distance
- 2 pts PMF table has significant deficiency
- 3 pts Missing
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10 Question 252/ 2
v - 0 pts Correct
- 0.4 pts Clearly define the random variable
- 0.4 pts Deduce that random variable is an exponential random variable with parameter 15.
- 1.2 pts Show work for the final calculation
- 3 pts Missing
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